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The increasing order of pK,, values of the

following compounds is :

F(cuj}z N(CH3), NHCH, NHCH;

-

(Jorta H

e N

i

"'\-\.]"
OCH;
I I1 I IV
Options :

40503641626, L < <IV<II

40503641627, L=I<HI<IV

40503641628, L < =<II<IV

T
40503641629, NIV <IlI<l
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Options :

40503641626, L < <IV<II

40503641627, U< I<HI<IV

40503641628, L= <II<IV

40503641629, L <IV <ll<lI
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The major products of the following
reaction are :
CH,

CH; CH CH—CH (i) KO'Bu /A
G”:DZCH (ii) Gsz’Hzﬂz

Options :

CH,
[ + HCOOH

- .-"'-'. H“--H
CHy~ “COOH
40503641630.

CH,
1 7+ crycoom

T

CH:
40503641631, ° o
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CH,
+ HCHO

-

L~ T

CHa~ g
40503641632, ° CHO

+ CH;CHO

CH{
40503641633,
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=1 arfafern % g2 3= ¥
CH,
CH;—CH—CH—CH, (i) KO'Bu /A |
,}JSDECH,! (i) O3/ H,0,

Options :
CH,
[ + HCOOH

CHy”™ coot
40503641630.

CH,
+ CH,COOH

CH: Xy
40503641631, - O

CH,
+ HCHO

-

il

CHa~ g
40503641632, ° CHO

+ CH;CHO

CHy
40503641633, -
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Correct Marks : 4 Wrong Marks : 1

Consider the following reactions :

A pzonolysis B 4O
(CrHqy)
+
p— 2 TaDH} » yellow ppt
Afze » silver mirror

1+ MatdH
w- no vellow ppt

€ 4 gives white
LiAlH, Anhydrous Zncl, rbidity
———D 7 =+ within &
& Cone. HC minules
‘A’ is:

Options :

o g T B B
40503641634, - - -
_.-'-'.".LTHH"H P ﬁh""‘x._h ..-"-'
L '\"\-\:"' e g oo -
40503641635. - ko
o~ H“'\-x.\"'ﬂ-\._ e i
- ¥ s _-#_,.-f MH'\-\.H_"__-"-"

40503641636.

40503641637.
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LiAlH, WjJﬁé?TXH(HE TG
i © 7 &Em HA ayrferean
T BT
2
‘AR
Options :
-~ '-'Q'l"‘ﬂ. -~ o, e o
T =a o S 2
40503641634, )
.-'a-'"".r *-C.‘;_:-_..::_L“. ~ ok qhx--. _‘-"'"-'P-'
40503641635, - -
S ~ =
.-'"'.’ H.H‘:'::;-,_ -_-___.-f'-' H"'\-\‘ .___,.-'
- o "\-H_ -

40503641636.

40503641637.
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The major product of the following reaction

15 :
CH;,
2HBr
—_—>
NO,
Options :
CH,4
~Br
Br
40503641638. N
Bt _CH,
Br
i
40503641639. NO,
CH,
i _Br
/T Br
40503641640. Ny
HaC fIi'.r
/ Br
40503641641, L
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7 sifafsran =1 9= 5o 2

CH,
2HBr
—_—
NO,
Options :
CH,4
~Br
Br
40503641638. NCh
Br _cm,
Br ;
NO,
40503641639,
CH4
i _Br
/T Br
40503641640. NQs
M€ gy
/ Br
NO,

40503641641. =
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Consider the Assertion and Reason given
below.

Assertion (A): Ethene polymerized in
the presence of Ziegler Natta Catalyst at
high temperature and pressure is used to
make buckels and dustbins.

Reason (R): High density polymers
are closely packed and are chemically inert.
Choose the correct answer from the
following :

Options :

Both (A) and (R) are correct and (R)

is the correct explanation of (A).

40503641642.

Both (A) and (R) are correct but (R)
is not the correct explanation of (A).

40503641643.

40503641644 (A) is correct but (R) is wrong,

(A) and (R) both are wrong,
40503641645.
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= T4 T3 Hg| T4 FEOT W =R S |
FIT(A): 3 A9 q0 TH T TR
IeqTh i ST H U F AgAhiHd o A
I 9IS o1 SYATT 9ehe (Sieel ) a91 2=2fad
F FA OB B

#IUT (R) : 3 99 9l e (9ga®)
Haaa1 ¥ HFHfad 2 & a9 T e §
FErEH B T

= H 3 Td T g

Options :

(A) T (R) ST D& & 991 (R), (A)
40503641642, TEl S € |

(A) T (R) ST € T € WA (R), (A)
40503641643, 1 el =ATEAT & € |

10503641644, (A) T T T (R) T €

20503641645, (AA) T (R) 1 & 7rea 2 |
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The major product obtained from the

foIlnwing reaction is :

* i Y . Hg2+ /H+
O,N— O yc=c< O OCH; =
PR EEAEL T 0
Options :
_OCH,

40503641646, 2
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_OCH;

40503641647, O
‘h’ OH
O,N
40503641648,
_OH
1
(&)

40503641649, 9N
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=1 srfufern & e 29 91 9= 3EE E

Fy LY T :E | {
0N~ O YczeX 0 yocn,HE/H
N, Fy W ’ HEU

Options :

.OCH;
(ﬁ] o &
40503641646, O
OCH;
I
(8
[
40503641647, *

_OH

O,N
40503641648.
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_OH

40503641649, 92N

Question Number : 32 Question Id : 40503611487 Question Type : MCQ Option Shuffling : Yes
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Correct Marks : 4 Wrong Marks : 1
Which of the following compounds shows
geometrical isomerism 7
Options :
40503641650, 2-methylpent-1-ene

j“ r -'-.-"_ W
40503641651, >~ methylpent-2-ene

40503641652, Fmethylpent-1-ene

Ipent-2-
40503641653 4-methylpent-2-ene

Question Number : 32 Question Id : 40503611487 Question Type : MCQ Option Shuffling : Yes
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= 4 9 %9 = aiftes sfadE gaEgaa

iy w2 ?
Options :
40503641650, 2-TIAATIZ-1-59

40503641651, 2-HAATE2-5T
40503641652, FHATI=-1-51

1 T g
40503641653, FAATE2-51

Question Number : 33 Question Id : 40503611488 Question Type : MCQ Option Shuffling - V-«
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The set that contains atomic numbers of
only transition elements, is :

Options :

40503641654, 21,25,42, 72

40503641655, 2 17,34, 38

. G J
40503641656, - r+2- 20, 64

40503641657, 21,32,53, 64
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e 2 foras o G el o1 o S
1 THEY &, TP

Options :
40503641654, 21,2542, 72

40503641655, % 17,34, 38

742 F
40503641656, /42,30, 64

40503641657, 21,32,53, 64

Question Number : 34 Question Id : 40503611489 Question Type : MCQ Option Shuffling : Yes
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Correct Marks : 4 Wrong Marks : 1
The INCORRECT statement is :
Options :

40503641658, bronze is an alloy of copper and tin.



german silver is an alloy of zinc,
40503641659, “OPPer and nickel.
cast iron is used to manufacture

40503641660, Wrousht iron.

brass is an alloy of copper and nickel.
40503641661. !
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TAd F97 T :
Options :
40503641658, 1 FTR 701 T =1 0 favamg 2

A oo, f5iF, S a1 fFa =
40503641650, F AL T
T2 3 (el s & FEvE s
10503641660, T (TN wiren) W Bl 1

AHE, FITE 9491 et &1 UF 1 |
40503641661, u fang @
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Among the sulphates of alkaline earth
metals, the solubilities of BE5D4 and MgSD4
in water, respectively, are :

Options :

40503641662, high and high

40503641663, PO°T and high

Qcollegedunias
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40503641664

40503641665

high and poor

poor and poor

Question Number : 35 Question Id : 40503611490 Question Type : MCQ Option Shuffling : Yes
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Orientation :

Vertical
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AT Ha1 9! F Hehe & drd, 9 3 BeSO,

a9 MgSO,
Options :

40503641662.

40503641663

40503641664

1 TSI HHI: F ;
I 991 3=

| A 1 I

| I T A

el 941 Ao

40503641665.
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Orientation :
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Correct Marks : 4 Wrong Marks : 1

The correct statement with respect to

dinitrogen

Options :

40503641666.

is :

liquid dinitrogen is not used in

ayosurgery.

it can be used as an inert diluent for

reactive chemicals.

40503641667.

40503641668.

40503641669.

it can combine with dioxygen at
257,

N1 is paramagnetic in nature.

Qcollegedunias
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SEAEEEA % Hed H Wl Ty B ;
Options :
9 EEASLIEA &1 WA FEEE
40503641666, (T FSHT) H T 2 2

10503641667, AT % B H wo fofn o1 e €
T 25 °C W SEAEHEHE & g 5407

40503641668. R el

N, &1 9&fd STT=®14 |

40503641669.
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The lanthanoid that does NOT show +4
oxidation state is:
Options :
40503641670. Dy

40503641671, Eu
40503641672, 1P

40503641673, <€

Question Number : 37 Question Id : 40503611492 Question Type : MCQ Option Shuffling : Yes
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I8 IS A +4 SR a8
eford F4a1 & 20T

Options :
40503641670, 2Y
40503641671, EU
40503641672, 1P

40503641673, <€

Question Number : 38 Question Id : 40503611493 Question Type : MCQ Option Shuffling : Yes
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Correct Marks : 4 Wrong Marks : 1
The species that has a spin-only magnetic
moment of 5.9 BM, is:

(T ;= tetrahedral)
Options :
40503641674, NHCO) (Tg)

40503641675, LMPBral (Ty)

40503641676, NICLIT (Ty)

N. {:N 2 are I F
40503641677, TEN)4l™™ (square planar)

Question Number : 38 Question Id : 40503611493 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Correct Marks : 4 Wrong Marks : 1
a7 TS fo9H 5.9 BM &1 o 913 914
[Ty =(3Z@FA) =goheria]

Options :

40503641674, O (Ta)

Qcollegedunias
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40503641675

40503641676

40503641677

[MnBr, >~ (T,)

[NiCl,]*~ (Ty)

[Ni(CN),J2~ (= wweedl)

Question Number : 39 Question Id : 40503611494 Question Type : MCQ Option Shuffling : Yes
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Orientation :

Vertical

Correct Marks : 4 Wrong Marks : 1

The presence of soluble fluoride ion upto

1 ppm concentration in drinking water, is :

Options :

40503641678.

40503641679

safe for teeth
harmful for teeth

harmful o bones

40503641680.

harmful to skin

40503641681.

Question Number : 39 Question Id : 40503611494 Question Type : MCQ Option Shuffling : Yes
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Orientation :

Vertical

Correct Marks : 4 Wrong Marks : 1

T A H 1 ppm = F GeEid FAlss

Options :

40503641678.

40503641679

40503641680

40503641681

=l & fore e
=i % fere B
 Bfgal % o wfre
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A solution of two components containing
n, moles of the 1%t component and n, moles
of the 2nd component is prepared. M, and
M, are the molecular weights of component
1 and 2 respectively. If d is the density of
the solution in g mL L C:,_ is the molarity
and x, is the mole fraction of the 2nd

component, then C, can be expressed as :

Options :
Cg = T Il[J[l[{!hdl Xy -
—y
40503641682. 1 2R 1,
- | x
S = M, + tf[-.,l:[ M, )
Xn — M
40503641683. 2 edierd 1
Ca = i d ;‘;11 =
# F xn (N .
40503641684 2. F % (M3 1)
- 1000 x
40503641685, 1+ xz (Ma 1)
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g FFEl F UF fqeeE § S on, 9 e
FATE 91 n, HieA GeA sEEa H HerE
TR T T B wEEE 1 A9 999 2 F
SR FEM: M, a9 M, ¥ afg faeam &
g9 (g mL tﬁ]d%ﬂmﬁ?ﬁ'ﬂmﬂﬁ
Hierdl C, U8 Hiel 949 x, B a1 C, H1 5°
T AT Y TFd @
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Options :
1000 d x5

=
2 My +x, M, - M
40503641682. 1 T x2 (Mp 1)
- | x
T T L(pi M)
o — ML
40503641683. 2 T2 N2 1
C'J = d X
T My txp (My — My)
40503641684 2t (Mp
5= . 115[5[;];;2 _
40503641685, 1+ x2 (Ma — My)

Question Number : 41 Question Id : 40503611496 Question Type : MCQ Option Shuffling : Yes
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Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The variation of equilibrium constant with

temperature is given below :

Temperature Equﬂihrimn Constant
T,=25°C K,=10
Ts=100 "C K,=100

The values of AH", AG"at T; and AG"at T,
(in k] mol~ 1) respectively, are close to
[use R=8.314 JK~ ! mol ]

Options :

0.64, —7.14and —5.71

40503641686.
40503641687, 254 —571and —14.29
40503641688, 5% —714and —3.71

40503641689, -4 —571and —14.29

Question Number : 41 Question Id : 40503611496 Question Type : MCQ Option Shuffling
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A9 F WY 19 e F 9REas T T
Tﬁﬂ%:

=259 K, =10
T2= 100 °C K,=100

i

AH°, T, T AG® @91 T, W AG® % HH
(k] mol~ ! H) #wr: T9=1 % af=re 2
[R=8.314T K !mol ]

Options :

40503641686, 004, —7.14 7 —5.71
40503641687, 254 —571TH —14.29
40503641688, 2o — 714 T =571
40503641689, V-6% —5.71 741 —14.29

Question Number : 42 Question Id : 40503611497 Question Type : MCQ Option Shuffling : Yes
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For the reaction

3
Fe;N(s) + ) H,(g) — 2 Fe(s) + NHj(g)

Options :

. o
K. =K, (RT) 2
40503641600, e p(R)

. )
K.=K_ (RT)"2
20503641691, ¢ R

K. =K (RT)
40503641692. P

| §
K =K. (RT)"2
20503641693, ¢ pth)

Qcollegedunias
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Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Ffufsran,

'; =,
Fe,N(s) + sz(BJ = 2 Fe(s) +NHj(g) %

fore, -
Options :
-1,

40503641690, e~ Kp(RT)

| §
K. =K. (RT)"2
20503641691, ¢ D)

K. =K (RT)
40503641692. P

| §
K. =K. (RT)"2
40503641693, ¢ p(th)

Question Number : 43 Question Id : 40503611498 Question Type : MCQ Option Shuffling : Yes
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Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Arrange the following solutions in the

decreasing order of pOH :
(A) 0.01 M HCI

(B) 0.01 M NaOH

€) 0.01 MCH,COONa
(D) 0.01 M Na(Cl
Options :

40503641694, (B) > (D) >(C) > (A)

40503641695, (B) > (C) > (D) > (A)

40503641696, () > (C) > (D) > (B)

Qcollegedunias
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40503641697 A4 > (D) >(C) > (B)

Question Number : 43 Question Id : 40503611498 Question Type : MCQ Option Shuffling : Yes
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Correct Marks : 4 Wrong Marks : 1

et fererall 1 pOH % w2t 9 & oopafier
T |

(A) 0.01 MHCI

(B) 0.01 M NaOH

(C) 0.01 MCH,;COONa

(D) 0.01 M NaCl

Options :

40503641694, (B) > (D) > (C) > (A)

40503641695, (B) = (C) > (D) > (A)
40503641696, () > (C)> (D) > (B)

40503641697, () > (D)= () > (B)

Question Number : 44 Question Id : 40503611499 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Consider the [ Dlinw'mg reacions

A—=Pl:B—=P2:C—>P3:D—P4,

The

and

order of the above reactions are a, b, c,

d, respectively. The following graph

is obtained when log[rate] vs. log[conc.] are

plotted :

t DB
ST (o

log [rate]

Y

log [conc. ]

Amc}ng the anDwing, the correct sequence

for the order of the reactions is :
Options :
40503641698, ¢ >a=>b>d

40503641699, 4= a>b>c

40503641700, 4> b>a>c

40503641701, @ >b>c>d

Question Number : 44 Question Id : 40503611499 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
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= wfufE w fa=r Fifeu -
A—Pl:B—=P2:C—P3:D—P4,
I ATITFIE F FIE FHM: a, b, cd9d

€l log[a] fo%s log[Fr=m] & = 4 =
AT WA Bl @ :

t D] IBI |
— K -
g| /. A
w| [
v
IDg|E|aﬂ .

fa= 9§ srfufsrmei =1 #ifz ¥F fau a8t w5
&

Options :

40503641698, €>a>b>d

40503641699, d=a>b>c
40503641700, 4> b>a>c

40503641701, @ >b>c>d

Question Number : 45 Question Id : 40503611500 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

Kraft temperature is the temperature :

Options :

below which the formation of

40503641702, icelles takes place.

40503641703.

40503641704.

above which the formation of

micelles takes place.

below which the aqueous solution of

detergents starts freezing,
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above which the aqueous solution of

40503641705, detergenu‘, slarts boﬂ_mg.

Question Number : 45 Question Id : 40503611500 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
I 19 98 a9 © ;
Options :
4050364170, T8 el Teres = Feion 2 2 |

Forar =92 fade =1 famto 2 2

40503641703.

fogF == feewmiz & 90" faemm =
40503641704. e (SFHAT) IS & I%}

5% o feeteie & woig faaaa =1
40503641705, T AR T S 21
Sub-Section Number : 2
Sub-Section Id : 405036806
Question Shuffling Allowed : Yes

Question Number : 46 Question Id : 40503611501 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

In an estimation of bromine by Carius

method, 1.6 g of an organic compound

gave 1.88 g of AgBr. The mass percentage

of bromine in the compound is

(Atomic mass, Ag=108, Br=80 g mol f]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :
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5t0 5.002

Question Number : 46 Question Id : 40503611501 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

Ffram fafy go 9A % uF SAFer § U
FTEfTH I F11.6 g, AgBr F11.88 g =l
21 dfrs § A #71 wefa gfavas

(Atomic mass, Ag =108, Br=280 g mol 1]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.002

Question Number : 47 Question Id : 40503611502 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

The number of C1=0 bonds in perchloric

acid is, “ 1

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.002

Question Number : 47 Question Id : 40503611502 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

T Ufae § Q=0 == +1 gem ¥
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText
Possible Answers :



5t0 5.002

Question Number : 48 Question Id : 40503611503 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

A spherical balloon of radius 3 cm
containing helium gas has a pressure of
48 x10~ 3 bar. At the same temperature,
the pressure, of a spherical balloon of
radius 12 cm containing the same amount

of gas will be

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t0 5.002

Question Number : 48 Question Id : 40503611503 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0
3 cm B=n % T=h M EWII\-{ =4
48 %10~ 3 bar 3@ T Fiferam 74 wi T1 34
T W, 12 cm 531 & e =R H 39
T FT 99 g% 19 F 5= (millibar §) &FW
X 10~ 6 bar.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to0 5.002

Question Number : 49 Question Id : 40503611504 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0
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The elevation of boiling point of 0.10 m
aqueous CrCl,.xNH , solution is two times
that of (.05 m aqueous CaCl, solution. The
value of x is

[Assume 100% ionisation of the complex
and CaCl,, coordination number of Cr as
f, and that all NHH molecules are present

inside the coordination sphere]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t0 5.002

Question Number : 49 Question Id : 40503611504 Question Type : SA Display Question Number : Yes

Correct Marks : 4 Wrong Marks : 0

0.10 m & Sl CrClyaNH; 1 S99
F=EA, 0.05 m % Feld CaCl, fae@d &
FEAIF AT FT SN E1 x H 9H B
(¥F 991 CaCl, & & &l 100%, Cr =
T9=E = 6 991 NH, % 991 31 g9=a4
Tl 3 sfa feerm 2 =)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :
5to 5.002

Question Number : 50 Question Id : 40503611505 Question Type : SA Display Question Number : Yes

Correct Marks : 4 Wrong Marks : 0
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Potassium chlorate is prepared 'm, the

electrolysis of KCI in basic solution
60OH™ + ClI" —» ClO3 +3H,0 +6e

If only 60% of the current is utilized in the
reaction, the time (rounded to the nearest
hour) required to produce 10 g of KCIO,

using a current of 2 A is

(Given : F=96,500 C mol L. molar mass
of KCIO,;=122 g mol 1)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to0 5.002

Question Number : 50 Question Id : 40503611505 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

AR e § KCl % faga 19929 g
qrefemy Fiie &1 99 fwar = 2

6OH™ + Cl"7 - ClO; +31,0+6e

Afufar § AR 60% o 9 wgw B 21
2 A Taep@ 91 1 S9Em #3910 g KCIO,
=1 g9 % T fova=n 999 ( =521 H) AEvEs

-,

=1 |
(Femn T : F=96,500 C mol ~'; KCIO, F
Hie Z=HA=122 g mol ~ 1)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :
5 to 5.002
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